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i 5 K E & W A HAR | BE (A= 10m®Y |20m® Y4 | ACEEA

(s BE 1L 3T T HUS3) BHERR H|OREE | OBE 4 | GEATEH B4 %= & (=gt

(ORE EERBRE) ) | ) | | @ (M) (M) X BRI
EE0E +5 el 0| 1,312 110 0 2,415 3,512 B
oltE BT = Bl o] 1,312] 110 0 2,415 3,512 | fHE
RN R RE I X mEedl ol 1,312] 110 0 2,415 3,512 DHE
4tE BT S 1 « O] nam 0 600 30| 200 1,100 1,400 | d#fE
s|tE e R AR x O] naem o] 1,000 80 0 1,800 2,600 | =
6| f& kT AN * O| Bi— o] 800 50 0 1,300 1,800 | ifE
k& E T P — x O| Bi— 40 | 2,000 25 0 2,000 2,000 | e
sltE e HA-ZEY * O H—# 0] 1,500 80 0 2,300 3,100 | s
oltE S R R E 20 | 1,000 20 0 1,000 1,000 | pHE
o)t BT i x O] mzzn 10 600 80 0 600 1,400 |y
L|fEETT FEH AL + O ol 0| 1,000 70 0 1,700 2,400 | pHE
12|48 BT R * O] H— 10| 1,000 60 0 1,000 1,600 | #yr
Bl AR & mEz 0 924 56 0 1,491 2,044 BHE
14| R ) JacBz il 5 987 | 174 128 1,986 3,725 BHE
)] N N T =X AN Bl 0| 1,165 58 0 1,742 2,325 | i
16| —AKAT E N AR 0 0 0 0 o] x# DT
| =R A HEAR I 0| 1,200 0 1,200 1,200 | s
18| —KfaTh AR RS 10| 1,743 174 116 1,859 3,599 HL
ol FreET 21 Bl ol 1,260 178 0 2,415 1,820 |
20| G K ] o] 1260 178 0 2,415 4,820 |
21| f PN e E 10| 600 60 50 650 1,250 | s
22|z T —FHH x O H—l 0 600 50 0 1,100 1,600 HL
23| ZEPTHT Rl 2 7 ol =z 0] 2,192 0 0 2,192 2,192 | @i
24| Z PR fIg T o| E—l 0 700 40 0 1,100 1,500 | #yr
25| ZHTHT BEF0 o Hi—il 15| 1,666 30 0 1,666 1,816 | T
26| [E] FLHT SR T x O H—l 10 600 60 0 600 1,200 HL
27| [E] FHT SR H e E 10 | 1,000 70 0 1,000 1,700 | s
28| [ {=AT BRI X RS 0| 1,428 77 0 2,205 2,968 BHE
29| BB LT T e B HARI o] 556 52 0 1,081 1,596 | fE
30| BRI T Iﬁﬁﬁﬁjﬁ Rl 0 556 52 0 1,081 1,596 | pHE
31| AR EE L Bl 0 556 52 0 1,081 1,596 | piHE
3o|zE )i @55 FR5 10] 1680] 168 105 1,785 3,465 | pHE
33| AT TEARHT FR5 10] 1,850 185 100 1,950 3,800 | fHE
34| AT VAR T A 5T JHRRI 10| 1,850 185 100 1,950 3,800 DHE
35| FHAS T i T SR 10| 1,500 | 130 120 1,620 2,920 | pHE
se| AT i HERT FR5 10] 1,700 190 90 1,790 3,690 | fHE
s7lmA .E,%,E ol e 0] 1,000 0 0 1,000 1,000 |z
38| REAS K- FHg 10| 1,470 100 165 1,635 2,635 | fHE
39| Koept G KB Fam 10] 1470 100] 165 1,635 2,635 | pHE
40|41 1HT R X SR 10| 1,564 193 212 1,776 3,706 PHE
4| )1 HT IR X JH&5 10| 1,564 193 212 1,776 3,706 | BHE
42| )AL S JacBz il 10| 1,575] 189 150 1,725 3,615 BHE
43| H AT SEHFT FR5 10] 1,350 170 150 1,500 3,200 | fHE
44| B AT o T FHa 10| 1,050 105 105 1,155 2,205 | fHE
45| = FFHT 1 e el 0| 1,102 99 0 2,100 3,082 BHE
46| Y[ TH i RS 10 892 | 110 0 892 1,992 BHE
47| BT Rl Bl 10 892 | 110 0 892 1,992 | pHE
48| AR T R R 10 892 | 110 0 892 1,992 BHE
49| BRI T N FRR 10] 1,300 130 70 1,370 2,670 | fHE
50| HH AT HEAT R 10 1,365] 136 88 1,453 2,813 | pHE
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s1|AA T L[] mgnl | 10 1701 220 162 1,863 4,063 | BHE
52| i HT 5 B P R 10 1,701 220 162 1,863 4,063 | pHE
53|l a T W B 8 10 1,700 220 162 1,863 4,063 | pHE
HERAL 1 JHEG 10] 1,060 126 115 1,165 2,425 DHE
55| AR HT 52 iR 0] 1,050 126 115 1,165 2,425 | pHE
56|15 5 JHER 10] 1260 150 100 1,360 2,860 | pHE
57| R T JILE Fig 10] 1,260 150 100 1,360 2,860 BHE
58| ke HT = AR5 0] 1,260 150 100 1,360 2,860 | pHE
59| HE T e JHaR 10| 1,260 150 100 1,360 2,860 | fHE
ol fit )1 &F i) 1 FHg 10| 1,175 125 110 1,285 2,535 | pHE
61 fiz2) 114 TEHH Jaibeyal 10 1,175 125[ 110 1,285 2,535 | DHE
oo| 2 BT RN T ElT (TS JEHIX) e 10] 609 73 0 609 1,339 | g
63| 2 AR TH R IT L i i X0) JHRR 10 609 73 0 609 1,339 | pHE
4| 2 B R T ENT (79 g HL X)) e 10] 609 73 0 609 1,339 | g
65| 2 E A T JE o| s o] 600 50 0 1,100 1,600 |z
66| AN TH IS E Of Hi—l 10| 1,100 20 0 1,100 1,300 | BT
67| S ERA T R IR o| v 20 | 1,000 30 0 1,000 1,000 | pHE
68| =% i IUEHES A 10] 1,890 ] 189 94 1,984 3,874 | fHE
| =% i — /K FHa 10| 1,890 189 94 1,984 3,874 BHE
w|EL T EE A 10] 1,800 189 94 1,984 3,874 | fHE
EE il JacBz il 10| 2,300 210 0 2,300 4,400 BHE
PEE S il A 10] 2,300] 210 0 2,300 1,400 | pEE
(B B e A = SEAEH 0] 1,050 0 0 1,050 1,050 BHE
4| EAT KR TEAEHH 0| 1,050 0 0 1,050 1,050 | BHE
(HERE NN SRR 0| 1,050 0 0 1,050 1,050 | #HE
([ Bl R Sk TEAEH 0| 1,050 0 0 1,050 1,050 | g
i BRI A 0] 1,050 0 0 1,050 1,050 | pHE
(& B[R S o] TERE 0| 1,050 0 0 1,050 1,050 | B
9| dbE )RR BARRIR A 0] 1,050 0 0 1,050 1,050 | pHE
ER G A 0| 1,050 0 0 1,050 1,050 | piE
81| PES T B FR5 10] 2,100] 199 84 2,184 4,174 | pHE
82| USR] AL - R X FR5 10] 2,000] 199 84 2,184 1174 | e
83| P EIHX FHa 10| 2,000 199 84 2,184 4,174 | pHE
84| PH S HERT T ] 10] 2,000] 199 84 2,184 1174 | e
85| FH ST A MX FR5 10] 2,000 199 84 2,184 4,174 | pHE
86| P TER]  E AR X AR 10] 2,000] 199 84 2,184 1174 | e
87| ST /AR X FR5 10] 2,100] 199 84 2,184 4,174 | pHE
88| PN TER] LR Hi X o Hi—il 0 500 30 0 800 1,100 | #E
89| E BT AT Fign 10] 1478 148] 105 1,583 3,063 | T
oo FETEARIT  H gk [X S 0| 1,155 63 0 1,785 2,415 | fHE
o1 FEE AT THRMX b 0| 1,155 63 0 1,785 2,415 | pHE
o FEEARIT  Fh IR Bl 0| 1,155 63 0 1,785 2415 | pHE
sl INET B mpel 0| 1,155 63 0 1,785 2,415 BHE
o4| FE E AXET  ORHI/NEHIX S 0| 1,155 63 0 1,785 2,415 | fHE
o5 B AT EERMX b 0| 1,155 63 0 1,785 2,415 | pHE
o6 JE T ARIT K DA T MM o nanl o] 945 63 0 1,575 2,205 | pHE
91| ) 114+ &)k HE— 10] 1260 126 52 1,312 2572 pHE
o8| AL HT HEE JHAR 10| 1,617] 160 88 1,705 3,305 | fHE
99| Bl R HT M iy JH&RI 10| 1,617] 160 88 1,705 3,305 | BHE
100 BT 5 )\ RIR - LA FH g 0] 1617 160 88 1,705 3,305 | fHE
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101|407 W7 JisBl 10| 1,617] 160 88 1,705 3,305 DHE
102| HyEE ELE 3451 10| 1,617 160 88 1,705 3,305 DHE
103| Ay PNDRIN AR5 10] 1617] 160 88 1,705 3,305 | DHE
104 AnEEmT FEEY F5a) 0] 1.617] 160 88 1,705 3,305 | fHE
105 Bl BOR iR 10] 1617] 160 88 1,705 3,305 | DHE
106| fIEE IAARH &R 10| 1,617 160 88 1,705 3,305 BEE:
107| Bl iEs TR 10 1,617] 160 88 1,705 3,305 | BHE
108| HlvEE AR izl 10| 1,617 160 88 1,705 3,305 BHE
109| — S HT =8 B 0] 1,900 190 0 1,900 3,800 | DHE
110| = EHT FE) N FH HL— il 10| 1,900 190 0 1,900 3,800 DHE
111 = 58T SR B — il 10| 1,900 190 0 1,900 3,800 | BHE
12| = 5HT A B 10| 1,900 190 0 1,900 3,800 | fHE
13| = SHT i L — i 10] 1,900 190 0 1,900 3,800 | fHE
114] = 5HT 5 B — ] 10] 1,900] 190 0 1,900 3,800 | fHE
15| = B HT KAH Bl 10| 1,900 | 190 0 1,900 3,800 | BHE
116] = SHT LN B — 10] 1,900] 190 0 1,900 3,800 | fHE
1174 LT JI A X FHg 10| 2,032 195 80 2,112 4,062 | gHE
1184 [LIIH] E N JacBz il 10| 2,032 195 80 2,112 4,062 BHE
119] 4 LT /DEELL SR 10| 2,032| 195 80 2,112 4,062 BHE
120| 4> | LIET FAH B 10] 2,032] 195 80 2,112 4,062 | piE
1214 LT HIR Fg 10| 2,032 195 80 2,112 4,062 | gHE
122] &= (LI BT KIEEFEIR FR5 0] 2032 195 80 2,112 1,062 | prE
123 BE Ao AT Fas L X el 10| 1,830 180 100 1,930 3,730 PHE
124 BB R4 FE R X b 10] 1,830 180 100 1,930 3,730 | pHE
125\ BEFNAT KX H&R 10| 1,830 180 100 1,930 3,730 PHIE
126| FEFOAS JNER) X mpel 10| 1,830 180 100 1,930 3,730 BHE
127| RS T B L FR5 10] 1,995 210 84 2,079 4,179 | pHE
128 & 2E FE T AR FHa 10| 1,995| 210 84 2,079 4,179 | pHE
129 T 4BHT Hh S 10] 1,990 190 120 2,110 4,010 | pHE
130] FHEMET 7K Y RS 10| 1,990 190 120 2,110 4,010 BHE
131 FHRHT & H&R 10] 1,990 190 120 2,110 4,010 BHE
132| T BET /N el 10| 1,990 190 120 2,110 4,010 DHE
133| T HRHT L S 10] 1,990 190 120 2,110 4,010 | pHE
134] THFET KN b 10] 1,990 190 120 2,110 4,010 | pHE
35| RaAR I AT AR A Fai 10 934 90 66 1,000 1,900 DHE
136] 2 RLHT IR B — 10| 1,100 120 70 1,170 2,370 BHE
137) A BT HA H—hl 10| 1,100 | 120 70 1,170 2,370 BHE
138] 2 RLHT BER B 10| 1,000 120 70 1,170 2,370 BHE
139] HRLHT HE L — i 10] 1,100 120 70 1,170 2,370 | fHE
140] A RLHT IR L — 10] 1,100] 120 70 1,170 2,370 | piE
141| B EENT BEASR Fg 10| 2,047] 210 90 2,137 4,237 | pHE
142| S ERNT KR FHa 10] 2,047 210 90 2,137 1,237 | pHE
143| SN W - B3 AR 10] 2047] 210 90 2,137 1,237 | e
144 S EENT  $H4 FHg 10| 2,047] 210 90 2,137 4,237 BHE
145\ B ENT F81 FR5 10] 2,047 210 90 2,137 4,237 | pHE
146 P EERT  FEIR JacBz il 10| 2,047] 210 90 2,137 4,237 BHE
147| ST SRR FR5 10] 2047] 210 90 2,137 4,237 | pHE
US| FASEERT  lfE ] 10] 2047] 210 90 2,137 4,237 prE
149| F SEET FE IR &R 10| 1,600 160 90 1,690 3,290 BHE
50| SN IR FH8) 10| 1,600 160 90 1,690 3,200 | pHE
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151 FE ST e FH8 10| 1,600 160 90 1,690 3,290 | fHE
152| S EERT Kbk iR 10] 1600 160 90 1,690 3,200 | DHE
153| B EEHT PRI HIE FHR5 10] 1,600] 160 90 1,690 3,200 | pHE
154| FE AT FRHLIX JH&RI 10| 1,600 160 90 1,690 3,290 DHE
155\ B EEHT R X FHgR 10| 1,600 160 90 1,690 3,290 | fHE
156| ] m HEMHX FHg 10] 1,600] 160 90 1,690 3,200 | pHE
157\ BN TRHIX JH8 10| 1,600 160 90 1,690 3,200 | fHE
58|V JIET S o] 1,134 78 0 1,921 2,694 | fHE
o|WbEfi =R SEeil] 0] 1,134 78 0 1,921 2,694 BHE
wo]WhoxEm HA el 0] 1,134 78 0 1,921 2,694 BHE
ilWbEfi A Rl 0| 1,134 78 0 1,921 2,694 |  pHE
16248 T ol il 20| 1,300 | 100 100 1,400 1,400 |
163 FES T By O H&n! 15| 1,600 50 0 1,600 1,850 AT
164\ FEARIE T JHL FR5 10] 1264 127 157 1,421 2,691 | fHE
65| ARG A B B 0] 1,801 179 84 1,885 3,675 | DHE
66| FEFRE T /NS ALE JHAR 10| 2,100] 210 157 2,257 4,357 | pHE
67| ARSI EPEES FHa 10| 2,000] 210 157 2,257 4,357 | pHE
1688 BT A X H&R 10| 1,785| 147 0 1,785 3,255 PHIE
169] AR EEAT e b 10| 1,550 ] 157 0 1,550 3,120 | pHE
170 R EE AT K O] 0] 1,730] 173 0 1,730 3,460 | pHE
¥ 20m Y- 0EH T IRRE ICKD 10m* &1 20m’ L FY  HEER
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1,729 3,199 23
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